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Questions

Points

Vocabulary

Match the pictures with the sentences.

(a)

1. Keep off the grass. (........ )

2. I like climbing the mountains n winter. (........ )
3. Turn off your mobile phone. (....... )

4.1 go out and jog every morning. (........ )

Match the words with the definitions. (One word is extra)
A B
5. Not hard to do or understand. a. translator
6. A large area of a country or of the world. b. relationship
7. A person who changes words into another language. c. available
8. The way 1n which two people feel and behave toward each other. d. simple
¢. region

I~

Fill in the blanks with the words given. (There is one word extra)
decrease / explain / available / existed / enable / knowledge / gained / develop / caused

9. Learning synonyms 1s a good way to .................... our vocabulary.

10. The blue whale 1s the largest creature that hasever .................... on the earth.

11. There hasbeena .................... of nearly 6 percent in the number of visitors to the

museum.

12. This information 1s freely .................... to anyone wishing to see it.

13. Tomtriedto .................... to Mary how to solve the problem.

14 Hehas .................... a lot of weight in the last few months.

15. The bad weather .................... serious problems for many farmers.

16. The information skill and understanding that you have gained by learning or experience is
L0110 .

Fill in the blanks with the proper words of your own.

17. More than 80 percent of people have ................... to the mternet.
18. Don’t forgetto .................... off all the lights before going to bed.
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Grammar 7
E | Choose the best answer. 1
19. Do you know John’s father diedofa .................... attack?
a. healthy b. blood c. heart d. calm
200A/An .o language 1s a language that has very few speakers?
a. popular b. endangered c. native d. easy
F | Choose the correct answer. 2
21. 'm sorry. I can’t pay for your lunch. T have ................... money.
a. much b. alot of c. few d. little
22. Listen carefully, I’'m going to give you .................... advice.
a. a few b. few C. some d. little
23. He borrowed too .................... money from the bank, and that’s why his business failed .
a. a little b. any c. much d. many
24. The only things my grandmother needed werea .................... of bread and a
.................... of sugar.
a. loaf — glass b. loaf — bag c. bar —bag d. bar — glass
G | Put the words in the correct order. 2
25. photographs / did / the birds / you / how many / take of /?
26. money / each month / save / you / much / do / how /?
H | Match the items in A with the items in B. There is one extra item in B. 2
A B
27. What languages do you know? a. It 1s English.
28. When did you learn English? b. not very good.
29. What 1s your favorite language? c¢. I knew English, Persian and Russian.
30. Can you use Russian fluently? d. surfing the net.
e. when I was seven.
Pronunciation 0.5
I. Which one is different in stress pattern? 0.5
31. a. sixteen b. eighteen c. forty d. fourteen




/

Qé S5 doal
\/, b gio pgd 0598 (X i (390 3T

\

S B 5 1 5olgils pli g ol
L1k V.YARYA) SERNVS(F NG B Y 13051 wie (e tdw ydo
\f’ Y axio % g oy e p2)k il S b 250 o6
(T Questions Points
Comprehension 7.5
Fill in the blanks with the right words. 2
early / age / experience / native
A: Whatisyour (32) .................... language?
B: Persian, but I know English and French well.
A: When did you learn them?
B: I began learning English when I was thirteen.
A: Do you think language learning should start as (33) .................... as possible?
B: My 34) ... says hardworking and interest are really more important than
(35) e .
K | Choose the best item. 2
South Africa has one of the world’s worst education system. A reason for the bad education in
Africa 1s that they don’t have ................... to good schools. It 1s hard for many schools in
Africa to find good teachersand .................... the fact that students like to study, education 1s
not available for them. The standards at schools are not good and there are many students in
each class. Actually many ................... people mn Africa learn things for their own
.................... . Their parents teach them a lot of things.
36. a. access b. mistake C. means d. matter
37. a.mstead b. mainly ¢. nearly d. despite
38. a.native b. tiny c. deaf d. similar
39. a. experience b. exchange c. relation d. action
Read the sentences and complete them with the best choice. 1
40. Sara says that she rarely goes out and hangs out with her friends. She stays at home most of
the time . She plays computer games and watches TV, soshe .................... :
a. has a healthy lifestyle b. 1s an active girl
c. 1s a couch potato d. 1s usually out of home
41. Most people have a special diet or do lots of exercise. But without a careful program, they
may hurt themselves. We understand from the above sentences .................. )
a. diet and doing exercise is enough to have a better life
b. a healthier life depends on the way we eat and careful exercise
c. with a careful program, we can hurt ourselves
d. one of them (diet or careful exercise) 1s enough for life
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M | Read the passage and answer the questions. 25
In 1998 the Rover company’s Land Rover, one of the most famous cars in the world, celebrated
its 50" birthday. But not many people know that its success was a surprise to the company. The
1dea was born when the Wilk’s brothers, who lived on the Welsh Island of Anglesey, wanted a
cheap but strong vehicle to travel around their farm. They copied the design of the American
“Willy’s Jeep”. At that time the Rover car company had problems. In Britain after the war,
people did not have enough money to buy Rover’s luxury cars, so the company decided to use
the Wilk’s brothers’ idea to make a little money for a few years.
Cars are usually made of steel but this was very costly than, so Rover used aluminum, which
was cheaper. There was a lot of aluminum because war planes were made of it. The design was
very basic and uncomfortable, but strong — “a tractor with passenger seat!” When the first Land
Rover was shown to the world at the Amsterdam Motor show in 1948, it was an instant success.
It was perfect for farmers and building companies because 1t could go to places where no other
car could go. Because of Land Rover, the Rover company became stronger and started
producing luxury cars again. They listened to the customers’ idea, and made changes to the
design 1n 1958, 1972 and 1983. It became more comfortable and safer, but could still take you
over fields, up mountains, into rivers and across deserts.
42. The Land Rover was first producedin .................. :
a. 1948 b. 1958 c. 1972 d. 1998
43. The Wilks brothers needed a car likea Jeep .................. .
a. because 1t was more comfortable b. to travel around their farm
c. to make much money for a few years d. for the Amsterdam Motor show
44. According to the passage, the first Land Rover .................. :
a. was made of metal less expensive than steel
b. had a complex design like that of a plane
¢. was both comfortable and cheap
d. could be used as a tractor on the farm
45. The underlined word costly is closest in meaning to .................. i
a. firm b. expensive c. flexible d. reasonable
46. Land Rover was a copy of Jeep at the beginning. (True / False)
47. Steel was more expensive than aluminum at that time. (True / False)
Total 24
. J




